Attachment Il to UIPL No. 33-90

ERI SAMPLE CALCULATION

ERI = (1 — ((IEC + IAC + NNC) / BEN)) * 100

Where,

IEC = Ineffective Charges: ETA 204, Section C, Column 8, Total All Subject Accounts

IAC

Inactive Charges: ETA 204, Section B, Item 6(a)(2)

NNC = Noncharges: ETA 204, Section B, Item 6(b) plus item 7(b)
BEN = Benefits: ETA 204, Section B, item 5 minus item 7(a)

ERI = (1- ((15,143 + 8,900 + 995) / 61,395)) * 100

= (1 — (25,038 / 61,395)) *100

= (1-.41) *100

= 59% of benefits effectively charged



